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=Year 11    =Matrices, Vectors, Complex nos    =Worksheet 4
	[image: image4.png]1. Which one of the following vectors is a position vector? (One or more answers).
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	2. Which one of the vectors in Q1 is a displacement vector? (One or more answers)
    

	3. Refer to the vectors in Q1. Express c in terms of a and b.

	4. Refer to the vectors in Q1. Express b in terms of a and c.

	5. Refer to the vectors in Q1. Find the vector sum c + a. Draw the vector below if it exists. 
                                          y

                                                         c

                                      0                                 x
                                  a


	6. Refer to the vectors in Q1. Find the vector subtraction a ( c. Draw the vector below if it exists. 
                                          y

                                                         c

                                      0                                 x
                                  a



	7. Two forces F1, and F2 act on particle A, and F3 acts on particle B.
                                                                F3
                        A                B
              F1
                                  F2
Write D for defined and U for undefined for the following:
a) F1 + F2       b) F1 ( F2       c) F3 + F2      d) F1 + F2 + F3 

	8. State the position vector r of the point (2, (1) in terms of unit vectors i and j. Draw r.
                                          y 

                                      0                                 x
                                                                           

   

	9. 
                                     a 
                                                                   b
                                        c
Find the vectors resulting from the following operations:
a) a + b + c       b) a + b       c) (b ( c

	10. Find the sum of vectors (3, 0), ((2, 1) and ((5, (5).

	11.                                         
                                                A
                 b                                  B
                     a
             O
                                                     C
Express vectors 
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 in terms of a and b.

	Numerical, algebraic and worded answers.



1.  a, c


2.  b


3.  c = a + b


4.  b = c ( a


5.  The vector sum is 


     undefined


6.  a ( c is a vector 


     opposite to b,  i.e. (b


7.  a) D  b) U  c) U  d) U


8.  2i ( j


9.  a) 0  b) (c  c) a


10.  ((4, (4)


11. 2a + 2b, 3a + b, 


      4a ( b
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